CHEMISTRY FORM 2 MARKING SCHEME
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ide have a certain similarity in terms of structure and b

J&\Aﬁ\u\wk

onding. State

408 <

7. (i) S e use of di (x“ \ \ \\ \) a \&:\
...... m Lr\j e b o m na
aNg.......) 9.\.‘.‘ .................................................................... :
When Carbon (IV) oxide is passed through lime water, a white precipitate is formed but when

excess Carbon (IV) Oxide is passed, the white precipitate disappears;
(2) Explain why the white precipitate disappears.

of 100°C,while hydrogen chloride has a boiling point of -115°C. Explain ¢
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12. Sodium Carbonate Decahydrate crystals were left exposed on a watch glass for two days.

a) State the observations made on the crystals after two days. (1mk)
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13. Using dots and crosses to represent electrons, draw the structures of the following:
& Phosphorous chloride (PCI3). (2mks)
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15. Carbon gmwmm;,oo: are in the same group of the periodic table. Silicon (IV) Oxide melts at 2440,C
while solid Carbon (IV) Oxide sublimes at -70.C. In terms ow wnn:onE.o and bonding, explain this
/.. (3mks)
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t can be used to extract element J from its oxide (1mk)
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, J and Carbon in order of their d ing reactivity (3mks
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19. Identify the particles that facilitate the electric conductivity of the following gﬁﬁw‘w
(i) Sodium metal

-
20.
neutrons respectively. \l.ﬁl a8
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